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WRITTEN RECEPTION (100 points)
(ACCESS TO INFORMATION FROM WRITTEN TEXTS)

(3,5 100) ¢ 9 podl 0gd (MTP) 100) XD Man
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Below are two texts: Text 1 and Text 2.

Read Text 1 and then answer questions 1-7.
Text 1

REAL GRASS OR PLASTIC GRASS™

I Botley is a small town near New York, USA. Only 2,000 people live there. Botley has
a school, a supermarket and a restaurant. But it does not have a park where families can
have picnics and where children can play. So the people in Botley are building a park in

their town.

5 II  Jim Scott lives in Botley and loves to work in gardens. He is helping to make
the new park. Jim already put flowers and plants in the park. Now he wants to put grass

there. But there are two types of grass, and Jim must decide which type of grass to use.

III  One type of grass is real grass. "Real grass has some problems," explains Jim. "It needs
a lot of water, and someone must cut it every week." The other type of grass is plastic grass.

10 Of course, plastic grass never needs any water.

IV But plastic grass also has a problem. It is not soft like real grass. When children fall on it,
they can get hurt™. "I don't want children to get hurt," says Jim. "So I want to put real grass in

our park."

* plastic grass — bl Cis / ODNYD RYT

* get hurt — s3tx of/ Slas 0F / 3979
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QUESTIONS (47 points)

Answer questions 1-7 in English according to Text 1. In questions 1, 2 and 3, circle the

number of the correct answer. In the other questions, follow the instructions.

1. What do we learn about Botley from paragraph I?
1)  How it got its name.
i) How many children live there.

iii) Where it is.

(6 points)
2. What do we learn about the people in Botley? (paragraph I)
1)  Why they want a park.
i)  Why they want a supermarket.
iii) Why they want a restaurant. .
(7 points)
3.  What do we learn about Jim Scott from paragraph I1?
i)  Why he lives in Botley.
ii)  What he loves to do.
iii) What type of grass he likes. )
(6 points)
4. What did Jim already put in the park? Give ONE answer from paragraph II.
ANSWER Lottt et et e et ettt et et e et ettt et e e a e ea et .
(7 points)
5. What is ONE problem with real grass? (paragraph III)
ANSWER L. ettt ettt e et et et ettt et e et e e it e e e ea et .
(7 points)
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What can happen to children when they fall on plastic grass? (paragraph IV)

ANSWER: L.ttt ettt ettt et et et e e it et et et e e it e aa et .
(7 points)
What type of grass does Jim want to put in the park? (paragraph IV)
ANSWER: L.ttt ettt ettt et et et et et et e ea e ea et .
(7 points)
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The exam continues on page 8.
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Read Text 2 below and then answer questions 8§-15. I,
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ARTISTS MAKE SCULPTURES ON A BEACH
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I Every year, artists travel from many different countries to a beach in Port Aransas, USA.  |[\$720N/AY

They go there for a special competition. In this competition, artists make very large sculptures ":l\
N

from sand. Some of the sculptures look like* animals or interesting buildings. Others look like .’\‘,‘\'/\—/\'

famous people. The artist who makes the best sculpture wins 2,000 dollars. \)I{\‘\\// MY

5 10 On most beaches in the world, it is not possible to make very large sculptures from sand. \\),"\\zl\-[;l\ D
On those beaches, you can make only small sculptures. However, the beach in Port Aransas
is different from most beaches. It has special sand. The artists at the competition need this ;/(/\’,\NQ‘/T

special sand to build their large sculptures.

III  The first competition in Port Aransas was in 1997. That year, only a few people went to
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IV Kevin Turner, an artist from Canada, was at the competition last year. "I made a sculpture

v d
2
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that looked like a horse," says Turner. "It wasn't a very good sculpture, but I had a lot of fun." |4
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QUESTIONS (53 points)

Answer questions 8—15 in English according to Text 2. In questions 8, 13 and 15, circle the

number of the correct answer. In the other questions, follow the instructions.

8. What do we learn about Port Aransas? (paragraph I)
i) There is a competition there every year.
ii) Many different animals live there.

iii) Famous people like to go there.

(6 points)
9. Where do the artists at the competition in Port Aransas come from? (paragraph I)
ANSWER: L. ettt ettt e et e e e e eees .
(7 points)
10. What do some of the sculptures look like? Give ONE answer from paragraph I.
ANSWER: L. ettt e et e e e e eees .
(7 points)
11. What can you make with the sand on most beaches in the world? (paragraph II)
ANSWER: L. ettt ettt e e et e e et eees .
(7 points)
12. How is the beach in Port Aransas different from most beaches? (paragraph II)
ANSWER: L. ettt ettt e e et e e et eees .
(7 points)
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13. What do we learn about the competition from paragraph II1?
i)  What its name is.
ii) How visitors travel there.

iii) When it began.

14. Where is Kevin Turner from? (paragraph IV)

ANSWER: ..o

15. What do we learn about Kevin Turner? (paragraph IV)
i)  He made a very good sculpture last year.
ii) He had fun at the competition.

iii) He likes riding horses.
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